



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\left(\frac{1}{3}\right)^2 + \frac{1}{6}\right) \times \frac{1}{3} - \left(\frac{1}{2} - \frac{1}{4}\right)^2 =$$

$$\left(\frac{1}{2} - \frac{1}{2}\right)^2 + \frac{1}{3}\left(\frac{1}{6} - \frac{3}{2}\right) =$$

$$\left(\frac{3}{4} - \left(\frac{2}{3}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{6} - \frac{2}{3}\right)^2 =$$

$$\left(\frac{1}{3} + \frac{3}{4}\right)^2 - \frac{1}{4}\left(\frac{1}{2} - \left(\frac{1}{3}\right)^2\right) =$$

$$\left(\frac{1}{2} - \left(\frac{3}{4}\right)^2\right) \times \frac{1}{3} + \left(\frac{1}{3} - \frac{1}{5}\right)^2 =$$

$$\left(\frac{1}{3} + \left(\frac{3}{5}\right)^2\right) \times \frac{1}{4} + \left(\frac{3}{4} - \frac{1}{6}\right)^2 =$$

$$\left(2 + \frac{1}{6}\right)^2 + \frac{1}{3} \times 5^2 \times \frac{1}{5} =$$

$$\left(\frac{1}{2} + \left(\frac{2}{3}\right)^2\right) \times \frac{1}{2} - \left(\frac{3}{2} + \frac{3}{4}\right)^2 =$$

$$\left(\frac{1}{2} + \frac{1}{2}\right)^2 + \frac{3}{5}\left(\frac{3}{5} - \left(\frac{1}{5}\right)^2\right) =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{2}\right) \times \frac{1}{4} + \left(\frac{3}{2} + \frac{1}{2}\right)^2 =$$



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\left(\frac{1}{3}\right)^2 + \frac{1}{6}\right) \times \frac{1}{3} - \left(\frac{1}{2} - \frac{1}{4}\right)^2 = \frac{13}{432}$$

$$\left(\frac{1}{2} - \frac{1}{2}\right)^2 + \frac{1}{3}\left(\frac{1}{6} - \frac{3}{2}\right) = \left(-\frac{4}{9}\right)$$

$$\left(\frac{3}{4} - \left(\frac{2}{3}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{6} - \frac{2}{3}\right)^2 = \frac{29}{72}$$

$$\left(\frac{1}{3} + \frac{3}{4}\right)^2 - \frac{1}{4}\left(\frac{1}{2} - \left(\frac{1}{3}\right)^2\right) = \frac{155}{144} = 1\frac{11}{144}$$

$$\left(\frac{1}{2} - \left(\frac{3}{4}\right)^2\right) \times \frac{1}{3} + \left(\frac{1}{3} - \frac{1}{5}\right)^2 = \left(-\frac{11}{3600}\right)$$

$$\left(\frac{1}{3} + \left(\frac{3}{5}\right)^2\right) \times \frac{1}{4} + \left(\frac{3}{4} - \frac{1}{6}\right)^2 = \frac{1849}{3600}$$

$$\left(2 + \frac{1}{6}\right)^2 + \frac{1}{3} \times 5^2 \times \frac{1}{5} = \frac{229}{36} = 6\frac{13}{36}$$

$$\left(\frac{1}{2} + \left(\frac{2}{3}\right)^2\right) \times \frac{1}{2} - \left(\frac{3}{2} + \frac{3}{4}\right)^2 = \left(-\frac{661}{144}\right) = \left(-4\frac{85}{144}\right)$$

$$\left(\frac{1}{2} + \frac{1}{2}\right)^2 + \frac{3}{5}\left(\frac{3}{5} - \left(\frac{1}{5}\right)^2\right) = \frac{167}{125} = 1\frac{42}{125}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{2}\right) \times \frac{1}{4} + \left(\frac{3}{2} + \frac{1}{2}\right)^2 = \frac{63}{16} = 3\frac{15}{16}$$